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Breakeven Analysis

: M@sétﬁes has determined that the combined fixed and variable expenses for the
roduction and sale of 800,000 items are $24,000,000. What is the price at the breakeven
int for this item?

nse equation for the productioﬁ of a certain MP3 player is £ = 1,250g + 700,000
the quantity demanded. At a particular price, the breakeven revenue is
‘What is the quantity demanded at the breakeven point?

-determines that a product will reach the breakeven point if sold at either $30
, the expense and revenue values are both $120,000. At $120, the expense

es are both $400,000. Graph possible revenue and expense functions that
ituation. Label the maximum and minimum values for each of the axes.

n points.

en pbints of the expense and revenue functions in each graph.
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oduct which they want to sell to builders.
it their breakeven point will occur only once
‘the expense and revenue will be




Date

imping gear. They are considering manufacturing a
nse function is £ = -54,000p + 7,000,000 and the
se and revenue functions. Label the maximum and

xis. Circle the breakeven points.

en points. Round to the nearest cent.

ine the revenue and expense amounts for
e nearest cent.

aby rattles. The expense equation is
R =-1,800p? + 20,000p.
functions. Circle the breakeven points.




